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de: (i) www s s & ﬁv##ﬁvﬁ%mﬂﬁi/ | .
Nm :  Question No. 1is compulsory, answer any FIVE questions from the remaining.

- (i) WW*WW#W@WEW!

__ Solve all parts of a question consecutively together.

- (iii) mmﬁ#gx#mw;
Start each question on fresh-page.

() a#mmﬁ#mm#@ﬁ#mmﬂmt /-
Only Englzsh verston is valid in case of dzﬁ’erence in both the languages

I ) mwt aﬁﬁlﬁfz N
. Write advantages of lﬂgh voltage transmlsslon
(i) - Pt s 35 et mfefa)
Wtite names of different types of conductors. ‘
‘(iu) mﬁwi\awmm |

. Write effect of gpan om fine sag. ..
(1v) mWﬁmﬂwﬁameM|

" Write factors which afféct the c@acltance of transrmssmn fine.
) mi&nﬁmﬁmm o S |

(1of) . PTO.
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(ii)

" (20f4) | 3182.

Draw the basic flow diagram of power system and-éxplain it in brief.
maﬁm@mw%mmmmwﬁmm?ﬁ:mmﬁ?ﬁm »
o % fore am Srrre Y g it |

Compare the volume of copper for 3 wire direct current system and 3 phase
3 wire alternating current system for equal voltage and equalload. | (6+6)

| T g Yl faRag | T T 3 =T W T HROT AT I gERY Y Ffirat

fofa ) : -

Write definition of string' efficiency. Write causes of low sﬁing'eﬁfﬁciency and
methods of improving it. W e

T Ot WhR % frgedes ¥ i wwew v & | 5% YT o @ iR C W,

e Wt o e 9 3 e e 0.1.C 3 4 | st v w s

20 kV & | et o g o e e < et R |

- Astring type insulator has three identical units, Self capacitance of each unit is C

@

- (ii)

(iif)

farad and capacitance of each connecting pin to ground can be taken as 0.1 C
farad. Maximum permissible voltage per unit is given as 20 kV. Find the

distribution of voltage across string and string efficiency. . (6+6)

TR e e & v o | |

Explain the transposition of overhead line conductors.. . w

T feen e W & i AR AR o 3 3 e o g w s |
e 1 =T 4 A3, 4 | e 3 5 St .30, et RN | o o R,
Y, B & e wgfera wroan | - '

The three conductors of a 3 phase transirlissidi; line are _;g;r\anged in horizontal
plane and are 3 meters apart. The diameter of each conductor is 4 ¢m. Determine
the inductance per km of each phase. Assume balanced load and R, Y, B phase
sequence. , : . e ‘ .

T e, faam w30 .. et & | R %1 = 1.5 Rt a5 s
% R o B, o o i e Wi | |

A single phase, two wire transmission line is 30 km long. The diameter of wire is
1.Smmand 1.5m apart. Find out capacitance of the line. (4+5+3)
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(ii)

6. ().

(ii)

, . (3ot | - 3182
e, ﬁmw&wﬁaﬁammmtm-whﬁm'l |

Describe feeder, distributor and service mains for distribution system.

T WO A & QO e & e 300 . ¥ g8 & | W W =W <105

fah., wrem w1 Wi 844 R, /R, Fftraem Rt @ 7950 f6am., ydw
ST W wh Y Brefie e 9.55 fr.ah. v amger 40 f.am, /o, O O
=2, T H1 R = 913.5R6.0m. /1 &, At wier a1 Wi 1 Seduew
i | ' | B '

In a transmission line distance between two level support is 300 metres.
Diameter of conductor = 19.5 mm, weight of conductor is 844 kg/km, ultimate
breaking strength is 7950 kg, radial thickness of ice on each conductor = 9.55
mm, horizontal air pressure is 40 kg/m?, factor of safety = 2, weight of ice =
913.5 kg/m?. Find maximum sag and it's vertical component. _ (6+6)

8130, e 3 v s srareen 3 26 o & D Ry F Parrarard o

Calculate the voltage drop in a DC distributor feed from both end at uniform

loading. . |
T 500 e wwea Q.. U wela freres Reean e v (0,02 +joo)Qd
T I T 7 @ 250 V 3 & | ag Prergar e d |

A'single vphase AC distributor 500 ni ldng- has a total impedance of (0.02 + J
0.04) Q and is fed from one end at 250 V. Itis loaded as under : :

(a) Wi IR U1 50 A, 2oowﬁz'w’1ﬁaﬁgé

50 A at unity PF 200 m from feeding point,

() v fiig @ 300 e, 100A,0.8 mmwm

-100Aat0.8PFlagging300mfromfeedingpoint.‘ . | _
© aiﬁnﬁgwrso&b,sw%gwimwnm'ﬁmwaim%wﬁm
N . o |

- 50 A at 0.6 PF lagging at far end.

 Calculate the voltage drop and voltage at far end. ‘  (6+6)

P.T.O.
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7.

8.

@) e et & o et |

Explain advantages and disadvantages of undergrbund cables.

(i) sftee e o farwr <y '
T Explain methods of cable laylng |

‘Write short notes on any two of following :
© wWATEEE

- Survey of LiT lines

(i) mmmﬁvﬁﬁﬁ

Method of erection of line support
(iii) ﬁwﬁaﬁ ‘
Radial dlstnbutor

3152

(4+8)

(6Q2)
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